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Rules of indices
e 53 x 54 — 57

* (5%)* nggrhxgz’ % §3 = g’

e 55~ §3 — EKSKB[XKi‘,Z — gg“
)| HeF BT

e 3 - 3

a” x gl=qmrn

(am)n= gqmn
—————l T,

am =~ q"= q\m=n
_‘/—4—"/—/—‘_‘




Standard Form (SF)

» Write 387640000:in SF to 3s.f
B g e k10"
» Write 0.000005796 in SF to 3s.f. ¢
577/6%10”6 ~ SPQ¥(D

* What is 3.46 x 107 as an ordinary number?
3y ¢ pg ool

* What is 734.8 x 103in SF
7Yk g X /o
* What is 0.00389 x 103in SF

3.9 =X (0

g

¥



Four rules in SF
« What is (3x 107)x (7x105) = 2\ %16 = 27} X 107
» What is (8 x 103) x (7x 104) = Qbwra™’ = 5-f X fo
 Whatis (8 x 107) ~ (2 x 10°) =

* What is (2 x 107) + (4 x 1073) =

e Whatis (3x 10%) + (2.8x105) = Q-3X 162 + A LY 1485=3-1YD°



Factors and Multiples

* Factors of 8 ) F,D\JLI-/Q

* Factors of 12 2,4, 4,6, 1)
MCF = L

* Multiples Of 4 Q,%)[g\) K

* Multiples of 6 &, 14,19 Ak

L= (]



Prime Factor Form (expressing as a product of it’s prime factors)

=
/e c
* Express 90 as a product of it’s prime factors 2 L;\
N 1 (5
= AABN AN E = QAL K5 (N
* Express 75 as a product of it’s prime factors ji
_ 3 A&
~ Y5 «S AN
s £

* Find the HCF and LCM of 75 and 90 lw@Kﬁ’ X 5] LCPA = [l %/C
HOF = 3%5=|g R B s = 45



Fractions

x N

3_o22 1 = 2

8 7 40 P &

Y 7

X H K5 7 8
33 QY s o= 27
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Fractions

&
«®B - 13
8

3
10
a

4 7
* 44— X /— =
4-x 2 =



Percentages

e What is 20% as a fraction and as a decimal

3,0 = . i &y, = Y
Teob . ip % RIAZ
 What is 20% of £280°7
D7 = ERP 28 x 280 - Bb -
o EY: | :
A0 7 = ER6
e Reduce £60 by 30%
g/ = &G

SRR o k-t ¥ = ELD



Percentages (expressing as a %)

e Whatis 11 out of 20 as a %~
R T _LLX;&.S-—-SFQ‘VO
(

HE: | D ™
J‘--—-a . Pas
x § |

* Express 8 as a % of 40 or what is 8 out of 40 as a %?

"’&‘Ll K I—é_,ﬂw "/
RLI#Q] | — &Q =

e What is 28 as a % of 73 to 3 s.f.

Q%{ D8 = 3§.358 = %4 7,



Perc\entages (using multipliers)

* Multiplier to increase by 5% ) 0YU ¥+ 5 %1 = [B5% > {05

* Multiplier to decrease by 18%  &7./, & 0 ~-% H
* Increase of 8% then increase of 10% (.09 x )} = [+]93 1484,

* Increase £220 by 5% then decrease by 5%
1102([»05 — vy ¥ 618 = 2’}3\[‘[’. L}-S



Compound Interest and depreciation

* | invest £12000 at 3% Compound Interest for 8 years, how much now?
AD0a X 103" = Pisas).

* A car loses 15% of it’s value each year from £20000, how much is it

worth after 6 years?
Jeocar 0855 = €560, 11

* | invest £3000 for 3 years and now have £3993, what was the interest
rate?

P11 =™ = | - (57,

——

Ag0p



Harder %’s

* | buy a car for £2000 and sell it for £2500. What is my % profit?
Ch no .
Lherem g8 ¢ rpn s‘uh o X __;y}u/b [F"'Oat'-if

-

DVQj(ﬂQ.[. J\D&?

* A meal costs £132 including 10% service. What did it cost without
service?

O X 1Y =132 3R/ = §10

* With 70% off a jacket costs £36. What did it cost before?
Oxbh=3%  3[/Son = £120



Ratio

* Simplify 10 apples : 15 oranges < | &
[] - r —
La - le 5 15

If Squash is 3 parts juice to 10 parts water 3:10
* How much water would you add to 12cl of juice?

3t 1D el Oparts = |pyg = [ ©ch
[p = L o]

* How much juice is in 78cl of squash? 3 + a0 = (3 P
ENIRVAY

P 5p = 3= e



Ratio (a tough question)

* | have red, blue and green counters. | want the ratio of red to blue to
be 2 : 3 and the ratio of blue to green to be 2 : 1 using less than 100
counters what is the most counters | can use?

A PR A
LQ&’SP R

1ds _ .
LR:6X 3¢ — 3 T ek

/X3 = Cb\,{ﬂhel‘ﬁ
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